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Diractions: Use the following functions below to evaluate sach problem. Grde your answer choice and
color the corresponding numbers o (e coloring sheet, & - i
: 8 ard e W ER G = (x2
f(x)=3x+17 glx)=x" =1 h(x) == jO) =1=(2xr =9 B
X < ——
B i - i
+ m = — - . — d.\.
Ecauxm n(x) =20 -x p(x) 4 woa.n?.+$?\|5 ., - He = M X X :
“
Evaluate f(5). -4 52 e 3 73 & - o
! SREEIRY Red Blue Yellow Creen Black lrn.@ _— m . L. POV g F =1 h..usﬁev 3 v
2 1 p(x) = —48, find the value of x. 64 -36 2 - , ,|w. = |M . .H. v B
Yellow Red Aqua (¥ Y u H.GJ = (- mu Q u
3 If n(x) = 18, find the value of x. 35 38 -2
Maroon Pink Light Blue P -1 n 7 " ﬁ.OV = ﬂnu
4 Evauate m(-2). - : 233 -1 o - X L e
Winte i Brown Dark Creen w
5 Evaluate h(50) : a1 10 85 e -.‘
White ] Orange Purple X o I@ - — K 4 _\J.
6 Evaluale g(-8) 37 3 15 nﬂ * wy
Park Red Light Pink rple ; Biack
7 If g(x) = 120, find the value of x 19 121 RS B 19 = 20 ~w -1% = WY,
Yellow Green 1 Orange |
8 Evalate j(0). - (oL 5 Y 9% -5 - .»A R au.
Pink Light Green Dark Red Light Purpie r B x
9 11 (x) = ~1, Tind the value of x. fEgat s ~ 20 53 u
Light Bue = | Gray Creen X = 2
0 Evaluate n(—8). -28 12 2
- Dark Orange Acua Winte
11 Evaluate 1(~4) 3 5 9 it i s . ﬁ\ - =
Dark Brown Light Pint Blade i I .PJ 2 Ye . n ﬂ\Gv = 10~ {i= Gv
12 If h{x) = 2, find the value of x 04 e 2.5 Eil 0 m .w @
Agqua " Light Brown Maroon Teal 1 By = 20+
13 Evaluate p(-16) 213 12 12 3% M M FIHJ = 3 n(
Gray Dark Orange Light Purple Aqua o - 4 5
4 If j(x) = 48, find the value of x AR N 8 A P m 2 N3 18
Green Blue Yelow Green While Maroon
- n (- = g ——
1B Il r{x) = 0, find the value of x. 3 @ 1 0 ﬂ\ .H\J )
Black -~ Light Blue Redi Pink
16 I mx) = 10, find the value of x. 45 -45 -835 FaraaEl | e oF (=4 = ﬁlr_ +D (~4e&= D
Purple Maroon Orange | Dark Pinic )
o 5. n(sy: > MY 2 <yED
AL - D Wl gz X¥ 7 :
V5. ptav) = % (-16) M. =482 - (1x-4) | Toem0 = $v (1) = 2
— - s - =] = - ] . =
ﬂﬁ :QJ . H@ _A—@ : NX.’\& : |WGH RS Sﬂ.mdd - = 0.4

: . - e d‘N =
1 5 e =-35 - 2
P = -17 B® =-1x U oo,
X=14

L
x
G. q(-8): -8y _, -5
§C-9) = Ly~ X =12
| 96® = 03

S
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